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English Language
Select the most appropriate antonym of
the given word.

NOVEL

A. fresh B. old
C. original D. new
B

Select the most appropriate word for the
group of words.

Willing to be guided controlled

A. abominable B. amenable

C. adamant D. adorable

B

Fill in the blank with the most appropri-
ate word.

people are remembered even
after death for their good deeds.

A. Virtual B. Violent

C. Vicious D. Virtuous




Ans: D

4, Identify the segment which contains the
grammatical error.
He asked from me if I was interested in
a career in modelling.
A. from me if B. in a career
C. I was interested D. He asked

Ans: A

5. Select the most appropriate synonym of
the given word.

VITAL

A. needless B. insignificant

C. trivial D. essential
Ans: D

Comprehension:
In the following passage some words have
been deleted. Fill in the blanks with the help
of the alternatives given. Select the most ap-
propriate option for each blank.
For two months I have been trying to decide
who (1) the best ice cream. I have
(2) it down to my two favourite man-
ufactures. Let's start (3) Randolph
Farms who have lots of (4) flavours.
Then, we have Goodies who use natural (5)
to make excellent ice cream.
SubQuestion No: 6
6. Select the most appropriate option for

blank No. 1.

A. was making B. is making

C. make D. makes
Ans: D

Comprehension:
In the following passage some words have
been deleted. Fill in the blanks with the help
of the alternatives given. Select the most ap-
propriate option for each blank.
For two months I have been trying to decide
who (1) the best ice cream. I have
(2) it down to my two favourite man-
ufactures. Let’s start (3) Randolph
Farms who have lots of (4) flavours.
Then, we have Goodies who use natural (5)
to make excellent ice cream.
SubQuestion No: 7
7. Select the most appropriate option for

blank No. 2.

A. narrowed B. cancelled

C. chosen D. selected
Ans: A

Comprehension:

In the following passage some words have
been deleted. Fill in the blanks with the help
of the alternatives given. Select the most ap-
propriate option for each blank.

For two months I have been trying to decide
who (1) the best ice cream. I have
(2) it down to my two favourite man-
ufactures. Let’s start (3) Randolph
Farms who have lots of (4) flavours.
Then, we have Goodies who use natural (5)

to make excellent ice cream.

SubQuestion No: 8

8. Select the most appropriate option for
blank No. 3.
A. off B. by
C. from D. with

Ans: D

Comprehension:
In the following passage some words have
been deleted. Fill in the blanks with the help
of the alternatives given. Select the most ap-
propriate option for each blank.
For two months I have been trying to decide
who (1) the best ice cream. I have
(2) it down to my two favourite man-
ufactures. Let's start (3) Randolph
Farms who have lots of (4) flavours.
Then, we have Goodies who use natural (5)
to make excellent ice cream.
SubQuestion No: 9

9, Select the most appropriate option for
blank No. 4.
A. variety B. various
C. unlike D. different

Ans: D

Comprehension:
In the following passage some words have
been deleted. Fill in the blanks with the help
of the alternatives given. Select the most ap-
propriate option for each blank.
For two months I have been trying to decide
who (1) the best ice cream. I have
(2) it down to my two favourite man-
ufactures. Let's start (3) Randolph
Farms who have lots of (4) flavours.
Then, we have Goodies who use natural (5)
to make excellent ice cream.
SubQuestion No: 10
10. Select the most appropriate option for

blank No. 5.

A. goods B. elements

C. particles D. ingredients
Ans: D

11. Given below are four jumbled sen-
tences. Out of the given options pick the
one that gives their correct order.

A. We even fail to recognize that their
call of duty keeps them away from
their families.

B. Yet, we often fail to appreciate these
sacrifices that they make.

C. They make countless sacrifices for
the nation and keep us safe from our
enemies.

D. The uniform men and women are our
unsung heroes.

A. DCBA B. ABCD

C. CBAD D. DABC

A

Ans:

12. Given below are four jumbled sen-
tences. Out of the given options pick the
one that gives their correct order.
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13.

Ans:
14.

Ans:
15.

Ans:
16.

Ans:

17.

Ans:
18.

Ans:
19.

Ans:
20.

A. As a result, he had gotten into a mil-
lion activities and hobbies.

. Thus, his parents were now reluctant
to spend any more money on his
hobbies.

. John hated finishing things almost as
much as he loved starting them.

. But he never stuck with any of them
of long.

. ADCB

. BCAD

B. CADB
D. CDBA

@O > v/ 0

Select the most appropriate synonym of
the given word.

PITFALL

A. haven B. retreat
C. hazard D. refuge
C

Select the most appropriate antonym of
the given word.
OMINOUS

A. foreboding
C. auspicious
C

Identify the most appropriate option to
substitute the underlined segment. If no
substitution is required, select No sub-
stitution.

The commander of the ship as well as
the crew are caught by the storm.

A. are caught in

B. threatening
D. baleful

B. is caught in

C. No substitution

D. Are being caught by

B

Select the correctly spelt word.
A. persue B. persoue
C. pursue D. purseue
(e

Select the most appropriate meaning of
the given idiom.
In a pickle

A. in jubiliation
C. in trouble

C

Select the most appropriate meaning of
the given idiom.

Red letter day

A. a very hot day B. a frightful day
C. avery specialday D. a very cold day
C

Select the most appropriate word for the
group of words.

That which cannot be seen through

B. in deep sorrow
D. in great pain

A. magical B. opaque
C. transparent D. invisible
B

Identify the most appropriate option to
substitute the underlined segment. If no
substitution is required, select No sub-
stitution.

Ans:
21.

Ans:
22.

Ans:
23.

Ans:
24,

Ans:
25.

Ans:

All the accident victims have been ad-

mitted and received attention.

A. and have received

B. but are receiving

C. No substitution

D. so had received

A

Select the most appropriate indirect

form of the given sentence.

She says, “I go for a walk every morn-

ing.”

A. She says that she goes for a walk
every morning

B. She said that she goes for a walk
every morning.

C. She says that I go for a walk every
morning.

D. She said that she went for a walk
every morning.

A

Select the wrongly spelt word.

A. acheive B. receive
C. believe D. grieve
A

Identify the segment which contains the

grammatical error.

The picture of the king’s is exactly like

the king himself.

A. The picture

B. is exactly

C. the king himself

D. of the king’s

D

Select the most appropriate passive

form of the given sentence.

He threw the ball towards his little

brother.

A. His little brother’s ball was thrown at
him.

B. The ball was thrown towards his little
brother.

C. The ball is thrown towards his little
brother.

D. The ball is being thrown towards his
little brother.

B

Fill in the blank with the most appropri-

ate word.

She was

talent show.

A. overturned

C. overpowered

D

with joy at winning the

B. overruled
D. overwhelmed



